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Eulev's method
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n = O/',o?
Hnﬂ = Hn+ h £ (%, H,,) ’ /

Modified Euler'’s {’}j\g\khod:
w N e N S i

Yoy = Ynt - b [#(t+h 9n+,g_ﬁczmyn))]

mpvoved Euler’s mefhod:

Tmproved Eulers

Hn—f—l— 5 ['Féx"’y")'}—’C(%*h Yut
h 40, 9)) ]
Woenas
@ Usins Euler's method Lind the Solution OB the initial
Value problem dy _ 103 (x+y) , Ylo)= Q& at 2=10.2

da
bg assuning h= 0.
Solution
Griven : 2,y o
o, =0 Yo = 2  Ey=m 02 4

y= log (2+Y)

H"H:" Yot h £ (%n . In)

for n=0, 91:304—;’17‘:(10/\90}
3+ (0.2) log (% *Ye)
_ a+ (0.2) log (6+2)

a+ (0-2) o9 &
+ (0-2) (0-3010)

Yy, = 2.0boz
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@ Using Culer's method Find Y (0.2) end Yy (0-4)

From dy = A+Y , Y (o) =1 with h=0.2
dx

peliren s
Giiven £x,y) = x+Y
X =0, Ho':_‘)""":o';Z

(o]
'X,:O-l )ﬂ,"'.?
N, =0-4% s Ya=?

By Euler’s formuia,
9!’\*' = yn+ h ‘)C(Q(n/y'))

y, = 3o+hi(x.,,yo)
= 14 (0:2) ( AotYe)
=y o feda ] (Bl)
[Had= e
y, = y, +hF0x,490
= le2 + (0.2) L 2 +Y)
e Teg 4 (owal) (Bee & ie2d
= 1.8 4+ 0«28
[gEryi= i

@ # mPute y at o = 0:25 bj modified Euler method
(6]
Qiven y'= axy, Yo =
Selution”
Giiven : % =0 1 Yo = &
7(' = 0- 35_/ Hl == 7

h: 0.25
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Fix,y) = axy
Bj modified Euler’s method .

| = Yy, +h [-f’ Ay + /'yn ‘F(’Xn,f/,,))]
n+1
g g+h£(%*gffﬂo*,}4muﬂa))

6.3 oads , T4 025 Llw, 1))
- l+(o.35)4—( 02>

Ao I
= \+(o.25)4 (0.125, | + (0-125)(0))

= A Toeasy F (oeras o 1)

]

|+ (o0-25) (o’ZX 0. 125 x1)

[ to25) = 1-0b25]

L) wilh
(%) uvsing modified EulenS’ method , C’,omPute Yy (o1
h=o0-1 from g y-cQZ 5 9(03

Solution :
Given 1 Ap =0 Je
: ’(l = Ov'

Jeagi= B 2"

By modified Euler's method,
3 4+ h £ (%0 Yn)
,ﬁmx"‘ O h-P(')(n %,Hn = )

L,;OI

SI = Ho"" h F (9(04’_%—' 304‘";/_-4(7(0"90))

i}

+ (o) F (o0l |+ 0:t F(0,1))

2 2.

= |4+ (0¢1) —1(.— (0,05‘;¢|,05)
L+ o0+l (0-95¢8)
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